W +c

T Jo(WT
[ﬂmin' Wmux] OS-SS C (7£§|17H | 9)
[0,0.4] 3795 + 248 (stat)  0.072 £ 0.006 (stat) 569.1 & 37.2 (stat) *&}2
[0.4,0.8] 4201 =+ 256 (stat)  0.096 + 0.006 (stat) 466.8 + 28.4 (stat) 6.
[0.8,1.3] 4334 + 274 (stat)  0.078 £ 0.006 (stat) 478.7 £ 30.3 (stat) T332
[1.3,1.8] 3823 4 267 (stat)  0.083 & 0.007 (stat)  395.3 & 27.6 (stat) T35
1.8,2.4 3042 4 266 (stat)  0.078 4 0.007 (stat) 282.9 + 24.7 (stat) 7357
33.9
WH +¢
[U;thinr ngx] OS-SSs C dﬁcgr/r\]/ﬁc)
[0,0.4] 2109 + 167 (stat)  0.073 & 0.008 (stat) 312.7 & 24.8 (stat) 533
0.4,0.8 2119 + 172 (stat)  0.094 + 0.010 (stat) 235.7 + 19.1 (stat) 1303
[ 41.2
[0.8,1.3] 2103 4 186 (stat)  0.077 & 0.008 (stat)  235.3 & 20.8 (stat) 523
[1.3,1.8] 1840 + 184 (stat)  0.093 & 0.010 (stat)  162.1 & 16.2 (stat) T332
1.8,2.4 1499 + 186 (stat)  0.080 £ 0.011 (stat) 134.5 + 16.7 (stat) T323
[ 26.1
W~ +c¢
do(W
[ﬂfm‘nl Ur}ilmx] OS-SSs C 0{§|17:|-C)
0,04 1688 + 158 (stat)  0.072 £ 0.008 (stat)  255.4 + 23.9 (stat) T373
[ 41.9
0.4,0.8 2084 + 162 (stat) 0.097 + 0.008 (stat) 230.6 £ 17.9 (stat) 1353
41.6
0.8,1.3 2234 4 172 (stat)  0.079 4 0.007 (stat) 243.6 & 18.8 (stat) 7223
[ 38.2
[1.3,1.8] 1986 + 166 (stat)  0.073 + 0.008 (stat) ~ 236.6 & 19.8 (stat) 732§
[1.8,2.4] 1544 + 161 (stat)  0.075 + 0.008 (stat) 148.8 + 15.5 (stat) T332



